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Data Sufficiency Ggrod Do

Note: In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You have to decide whether the data given in the statement is
sufficient to answer the questions. Using the data make an appropriate choice from (1) to (4) as
per the following guidelines:

a) Mark choice (1) if the statement I alone is sufficient to answer the question.

D) Mark choice (2) if the statement IT alone is sufficient to answer the question.

¢) Maik choice (3) if the statements I and II together are sufficient fo answer the question
but neither statement alone is sufficient.

d) Matk choice (4) if both the statements I and IT together are not sufficient to answer the
question and additional data is required.

e 1 1 dod 20 505 23D PB IO 2.8 9y, o2I2ed |, 11 02 dden o Gocd PddTen
oo @ DEFOW. FND BEFodo ELATA), RN PITT V) D AAFFAd) BdyedD
::)U“Q‘w whHmroir goe el b Dg‘ﬁomﬂ. & Dg‘tﬁtaa) 200 mgd%s Aargen eddrion (1)

A0od (4) H02) 26 Land BT & Joad dabod.

a) P¥)D adrgrdo faéaome‘o paddo | drdan éo‘ég@a o 2w (1) m hgodod.

b) @)% vargrde adyods Hdddo Il Ardd HTHE 2 adw (2) r hidod.

c) R ddrorde adydhd dadaen |, I 30 dorfhiany wedd” J w8 dre dojo
sEd D aaw (3) m Hiedod.

d) 93y ddrgdo @éaod)SJ padaeen 1, 11 499 droe Do 575 oY) daroto vddo

03 ) 27t (4) m hiodod.

Sub questions

Question Number : 1 Question Id : 5494702956 Display Question Number : Yes Is Question
Mandatory : No



What is remainder when a number “x” is divided by 9 ?

F’\ma}?ﬁ X D3 Tﬁoéﬁmﬂé@'jﬁ.} oo Do 7
5 The remainder left when ‘x " 1s divided by 3 is zero.
g tidlies 5 i E.Pﬁn;:umda‘;g_j;}cf.:u a:f:{:l Fal0 ARy
1L The sum of the digits in “x" 1s 3
‘A7 5" e90ZTer Judebo 3
Options:

1.*1

[ B

2. ¢

3. %

4, ®

Question Number : 2 Question Id : 5494702957 Display Question Number : Yes Is Question
Mandatory : No

What is the distance between the points ‘A’ and ‘B" ?
Dotanen A, Beo ] Grdo Jodd ?

L The velocity of the stream is 2Km/hr and the speed of the boat in still
water 15 15Km/hr.
PP Sfo ored 2 £ Do B DEyo DB’ DED Brfo oty 15 & M

II. The boat takes 30 hours to travel down stream from point ‘A’ to point ‘B’
and coming back to point ‘C’ which is in the midway between ‘A’ and ‘B’
T 636" Docay A’ Rvod. B H6L Hosredod D), ABH A 2wdoio B’

L3 5331:;'315 Docen 'C' H08) Doireoni=IS DED 30 Aoien drsiotnod

Options :

’I.%]



I

Question Number : 3 Question Id : 5494702958 Display Question Number : Yes Is Question
Mandatory : No

What is the present age of Anil?

e 7330 HADADY Joed ?

L Five vears ago. Anil’s age was twice that of his son’s age?
5 Q02T S0, 9 HADADY BB LATM oLy £ B0y

II.  Five years hence. the ratio of the ages of Anil and his son will be 12 : 7
5 ?ooée:ﬁsmu echardd 29085 Sobcin 0ol Lardd ao:iJé:mJa} fl}?.’;{;je_i_é 12 o F
oo od)

Options :

1. % ;

ed

L]

Question Number : 4 Question Id : 5494702959 Display Question Number : Yes Is Question
Mandatory : No



What is that two digit number?

&5 Dot ©oSw Doal D08 7

k. The sum of the two digits of that number is 12
&5 f0m(es D Dok ©oSew Ao 12

I1. The difference between the two digits of that number is 6
e Dom§e)"D Do @oSw o 6

Options:

1.% 1

Question Number : 5 Question Id : 5494702960 Display Question Number
Mandatory : No

What is the profit earned on selling the article “x°7

2 SR X' D W) Go T #0arBond ersianed ?

L. The article ‘x” s sold for Rs. 5100 after giving a discount of 15%.
15% Swodoe @EJ&::: SETP3 83 DA X A drF 5100 o €950, (0.

IL. If the article “x” is sold for the marked price. the profit could be 20%.
D K D PEBS Do ) &old. 207 erdo Gold.

Options:

’I.%1

: Yes Is Question



2. %
3¢ 2
4% ?

Question Number : 6 Question Id : 5494702961 Display Question Number : Yes Is Question
Mandatory : No

A, B. C. D. E and F are sitting around a circle facing its centre. Who is sitting at the

immediate right of B?

A, B, C, D, E s080in F e g 3o cotar Somrdangiore SRy ®. B & ed cdoes”
€Od DN DD gﬁm&”’}um?
L ‘A’ 15 facing ‘D’ Oaly ‘C’ 1s between ‘A’ and “B’. ‘F’ 1s between ‘E’ and ‘A’.

A S oo D SranTy . A, B'o .‘L‘z\:uc:iuée_Bé ‘T arasy &7 6. E wbaio ‘A
3] mc_ﬁg "F’&nﬁim.
II. ‘F' is sitting on the immediate left to ‘E’. Oaly ‘D’ is between ‘B’ and ‘E’. ‘C”

is not adjacent to F.

E 4 od 6o dedo gy F dronyTy . B, E o 2" D' argd Gy 6.

Fepgs Cdo.
Options :

1.*1

| ]

2. ¢



Question Number : 7 Question Id : 5494702962 Display Question Number : Yes Is Question

Mandatory : No

Among six persons A, B, C. D. E. F who is the tallest ?

esCorad dyen A, B, C, D, E, F o &° dam Jdy.d Fend?

L ‘C” i3 taller than only fwo persons. ‘B’ is taller than ‘A’ and ‘E’ is taller than
only ‘F’.
C agdd HfgendT) argd TEmd. A ot B Fedared wdawd F ot
Ay E b,

II. ‘A’ is shorter than only two persons, ‘E’ is taller than ‘F but shorter than “C”.
“C" 15 shorter than ‘A’ and ‘B’ 1s shorter than ‘D’.
B HiE0 Lol Argdy A ey S Tepdorcs. E wd 258 F dofl Fa, =D

‘T dof ﬁ“@aﬂm A0bodn ‘D dot B é’;)“egavm. ‘A dotd 'C ﬁ“@mm.

Options :

1. # .

| o]

2. ¢

Question Number : 8 Question Id : 5494702963 Display Question Number : Yes Is Question

Mandatory : No



What is the rate of interest ‘R’?

DG Bt R’ dood ?

L The compound interest on Rs.3500 in 2 years at the rate ‘R’ is equal to the
stmple inferest in 4 years on Rs, 1855
3500 dr|p a¢ Btw R Fiyd Botd odayTro edhy tg I¢, 4 dodayTe &°
6r 1855 2 53y FaTd) H6 & DATIAW.

II.  In7years, Rs. 2.300 at rate the ‘R’ becomes Rs. 4232 by simple interest.

dr 2300 e 7 Hodehyore & R Rardy o6 G0 S dr 4232 en egdood

Options:

1.*1

| ]

2. ¢

Question Number : 9 Question Id : 5494702964 Display Question Number : Yes Is Question
Mandatory : No

What is Nitin’s rank from the top. in a class of 40 students?

40 2008 DEFjEoND) SEABS" P Do) DBD TojoLd Josd ?

I There are 10 students between Nitin and Naveen.
G5 soboiw 55 m@5é5 10 2006 Derghoense) M

IL Naveen is twentieth from the top.
D00 HDH VEHONGD ToE

Options :

1. %



i
2. %~
3. % 3
4. ¢ 4

Question Number : 10 Question Id : 5494702965 Display Question Number : Yes Is Question
Mandatory : No

How many toys were sold on Monday?

Fanarco B 20y eFa0yen eeddd ?

L It was 10% more than the number of toys sold on the previous day
docse) Hex eﬂinéa ESDD_‘J%)U f\mmé got o3 E()DE'._].'JTS 10 zréd0 QJQJG.::}

II.  On Sunday every third visitor to the shop bought a toy and there were 1500
visitors on Sunday
B0 T P & SAND DB DO Doty & wid g Bl FT®

SnBain esdardo el 1500 momcs;\m am&m

Options:

1.*1



Question Number : 11 Question Id : 5494702966 Display Question Number : Yes Is Question
Mandatory : No

What was his average speed?

29657} it o Jodd?

I 1 :
He travelled the last p of the distance at 6 Kmph.

202 D50 ool Hosy GrTd) ot 6 & 2 Srie & Hosrsdord .

II. 1 :
He travelled the first ?LOf the distance at 5 Kmph.

23D 206 TRl Hosd BT ot 5 & Do Brio & posredorra .

Options :

1

| ]

Question Number : 12 Question Id : 5494702967 Display Question Number : Yes Is Question
Mandatory : No

What is the arithmetic mean of the real numbersp.q.r.s?

PR oSN P.g. .50 $o8 A0 o 7

L ptrg+s=25+p
1. 5r+s+pr=17-5q

Options :



1. %

s ]
2. 2
3. % 3
4 % 4

Question Number : 13 Question Id : 5494702968 Display Question Number : Yes Is Question
Mandatory : No
What percent of 45 is *x’ ?
45 5° ‘X' Dodd Treadaw ?
L. ‘x” 1s 40 percent of 135
135 &5° 40 wradaw ‘X’
IL. O percent of ‘x” is less than 5

‘xS 9 a0 5 ol agy o,

Options :
1

[ ]

Question Number : 14 Question Id : 5494702969 Display Question Number : Yes Is Question



Mandatory : No

PQRS is a square with sides of length 6 and point *A’ is on the side QR. What is
the area of the triangle PAQ?
Zomane Ty 6 ™ fo Haochan PORS & zhadw QR Do Domo A &) .

Sabao PAQ pereiloes?

S R
/.r’)é'.h
>

P Q

L  AP>6

II. ‘A’ 15 in the midpoint of QR.
QR ciw ng Siin g Docioan A

Options:

’I.ﬁl

Question Number : 15 Question Id : 5494702970 Display Question Number : Yes Is Question
Mandatory : No



What is the age of ‘P’ 7
P o30g), Doruy Jod?
I ‘P’ 1s older than ‘Q’
Q go&3 P b{éﬁaﬁm
1L, The age of ‘Q’ is 20 vears

] -:'CJDjJ”nl}:.J 20 :?:JD.:C}E}:JU“E_JJ

Options :
1. % ;
2.% °©
3
3. %
4
4.+

Question Number : 16 Question Id : 5494702971 Display Question Number : Yes Is Question
Mandatory : No

Is the integer ‘n’ divisible by 357
3543 rTroso ‘N’ erfoneacidoonr ?

E ‘n’ is divisible by 14
14 3 n’ erfodeaiidoed

II. ‘n’ is divisible by 15
15 & *n’ erBomesciyddood

Options :

1.% 1



[

Question Number : 17 Question Id : 5494702972 Display Question Number : Yes Is Question
Mandatory : No

What is the cost price of a chair?

e DBy E) Do Joes?

L If a discount of 25% were given. the selling price would have been less by
Rs. 50,
25 T80 0607 2y S0, ©DH d0 50 BFaFODED BNE0LB.

IL. Two successive discount of 5% each were given.

28) 9.8 5 T FuyD Do FOoHBE ADETRD FEPE.

Options :
1. % 1
2
2. %
&
3. %
4. & %

Question Number : 18 Question Id : 5494702973 Display Question Number : Yes Is Question
Mandatory : No



Ganesh and Gopal each caught some fish in a fish tank. Who caught more fish?
w8 BHv D’ 08D Dbowo HS e W) or £y Soen HFEd. JO D
e ;)%g“dj )

L After Gopal stopped fishing. Ganesh continued fishing for another 15
minutes.

FareS doe 56 ehsd adard oF 15 dDadren o 680 dhe S0

£ Arhomrc
II. 2. .
Ganesh caught Etmles as many fish as Gopal caught.
2
a7 D fﬁ:mgjg 06 SD0 (B HEPD.
Options :
1. % 1
2.9 2
3. % -
4% *

Question Number : 19 Question Id : 5494702974 Display Question Number : Yes Is Question
Mandatory : No

What is the sum of the two positive integers?
&3 Doty (B3R YFT 05 L T Joey 7
I One of the integer 1s 17.

05 3yrgrose) 57 88 17

IL. The LCM of the integers is 51.
8 rgroste &, ar. i3 51



Options :

1% 1
2. % 2
3. % 4
av *

Question Number : 20 Question Id : 5494702975 Display Question Number : Yes Is Question
Mandatory : No

What is the 3™ number of eight consecutive integers?
DI HAR VPTes7w &° 3 D Doy IO ?

L. Their product is divisible by 720

Failin) ©E0 720 @ erfone o

1L The sum of all the eight integers 13 84
83 DDT0A WFgrosTe do 84

Options :

1. % .

k-

2.

4. %



Question Id : 5494702976 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (21 to 30)

Problem solving oy P
Sequences and Series  @RgAren, Frwen

Note :

In each of the following questions (from 21 to 30), a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled by the correct
answer from the four given options to complete the sequence without breaking the pattern.

AT
Sod myd P8 Py (21 ol 30 H6%) & By Dopfen ) wLTW ) 2.4 gmm@@a
Aobardy Fdpayon. 98 piy &I ) adyd Fwb pdyFo dod M6 wowd aTwd

;)mii-b:l ®iDga Dohards doto Sentioenr HPdeard.

Sub questions

Question Number : 21 Question Id : 5494702977 Display Question Number : Yes Is Question
Mandatory : No

BCE : EGK :: KMQ :

Options:

, » QSU

, o QW

3.0 BT

, x GR



Question Number : 22 Question Id : 5494702978 Display Question Number : Yes Is Question
Mandatory : No

1000 : 512 :; s 34

L

Options :

1331

1. %

, o 729

Question Number : 23 Question Id : 5494702979 Display Question Number : Yes Is Question
Mandatory : No

10:99:: 9 :

Options :
84

1. %

Question Number : 24 Question Id : 5494702980 Display Question Number : Yes Is Question
Mandatory : No



ATR : ZEQ :: EMG :
Options :

FNH

1. %

DLF

FLH

DNF

Question Number : 25 Question Id : 5494702981 Display Question Number : Yes Is Question

Mandatory : No
8:81:9:

Options :

;w92

102

101

64

Question Number : 26 Question Id : 5494702982 Display Question Number : Yes Is Question
Mandatory : No

LOSE : OSVI :: GAIN :

Options :



IELQ

JDLP

IDMP

JELR
o

Question Number : 27 Question Id : 5494702983 Display Question Number : Yes Is Question
Mandatory : No

HARD : DONZ :: SOFT :

Options:

. v PEBQ

PECR

PIBQ

PICR.

Question Number : 28 Question Id : 5494702984 Display Question Number : Yes Is Question
Mandatory : No

Options :

225

1.+



241

2. #®
N
4% 117

Question Number : 29 Question Id : 5494702985 Display Question Number : Yes Is Question

Mandatory : No
54 :96::63:

Options :
1 % 108

4 T14

Question Number : 30 Question Id : 5494702986 Display Question Number : Yes Is Question
Mandatory : No

34 :1849 :: 23 :

Options :



1369

4 % 1516

Question Number : 31 Question Id : 5494702987 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series edugaren, e

Pick the odd thing out i the following.

Sodd @D T8 V8T VIS hocsed,

Options:

1 » Bad

Bright
2. %

White

4 % Good

Question Number : 32 Question Id : 5494702988 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series edugATwn, Fraven

Pick the odd thing out in the following.

Socs fa{f}a.ﬁ aeeded” 0TI Mhbodod.



Options :

. » NOVEL

COMPEL
, » POWDER
, o LABOUR

Question Number : 33 Question Id

Mandatory : No

: 5494702989 Display Question Number : Yes Is Question

Sequences and Series e gaTren, Fren

Pick the odd thing out in the following.

S0t @S e W8T 0IG hocsed.

Options :

1 % Scissor
Tape

2. %

3 % Bobbin

4 Blouse

Question Number : 34 Question Id

: 5494702990 Display Question Number : Yes Is Question



Mandatory : No

Sequences and Series RS DT, Foew

Pick the odd thing out in the following.

So6s AN T3¢ DOT 0B (hocdoc.
Options :

GRUNT
1. %

SHOUT
2. ¥

HOWL

BARK

Question Number : 35 Question Id : 5494702991 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series eAgATeD, Fraven

Pick the odd thing out i the following,

Socs Ay T78¢° HOT°0IA (hocdodt.

Options :

Belief

Shield

Brief



Deceit

Question Number : 36 Question Id : 5494702992 Display Question Number : Yes Is Question

Mandatory : No

Sequences and Series eR0gATe, Fre

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

AP God @G 9F) 28 PSS Jabardy Fed. e JaHardydsdod

2O Dargrded ards) rdodiod .

39,155,399, 1463 .

Options :

2379
1.4

| ]
=t
h
-]

1935

L

Question Number : 37 Question Id : 5494702993 Display Question Number : Yes Is Question

Mandatory : No



Sequences and Series e gaoren, Fraen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

ArSD 1500 @YD DY w8 DNSDH dabdrdy Fe3inod. e Qob Ay fidndoed)
260D DAroEHed a0 HFdodod .

AB5.CD25.EF6l ., GH113,

Options :

| % D151

5> 17181

, x D213

17247

Question Number : 38 Question Id : 5494702994 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series wdngare, Froe

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ardd (So0 BN P WS PASWH dahidrdy F006. Qo) fanoc)
ABaDh pargrded a9 HTFbodiod .

24,120,336, 1320,

Options:

1731



1950

3 o 2184

2379

Question Number : 39 Question Id : 5494702995 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series CESERUIIVEE AT

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ardd 306 Ay PF) @8 PASDD Jabardy FSwed. ¢ Jabdrd)dddor)
28aHh DArorHes w9 HFdociod .
6.,.15,35 77,143,

Options:

i

1.¢

'}'31

191

16l
3. %

201



Question Number : 40 Question Id : 5494702996 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series wogsrw, Fre

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

ArcSd 1506 RAYD 9F) 28 PASDD Jahard) FWed. & Jahrdyddded)
PO Dargrded 900, Hrdodod .

CW,EU.GS. KO,
Options:
LP
1. %

MQ

LK
3. %

MM
4.+

Question Number : 41 Question Id : 5494702997 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series edgare, Fren

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ao 306 BANG 0F) 28 PYSDD Jabardy TSWes. & Dabaardydadec)
260D Pargraes ardd) Hrdodod .

(8.24), (48 120). (168 , 288) . (360 . 528).



Options :

| x (630.748)

(840 . 960)
2.

- (759 . 870)

4 x (893.97D)

Question Number : 42 Question Id : 5494702998 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series edogaren, Jroen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer,

Ardd ot @YD BF) 28 PASDD Jabardy FBdes. & dabdrdydidded
PE0HH Dararded 1m0 HFdodod .
3D5, 57,7111, 11113,

Options:

13M15
1. %

13N15

13317
3.¢

13P17



Question Number : 43 Question Id : 5494702999 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series AT,

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

ARG 1500 BANG PF) W8 PINSDH Jabardy F3000. e Qabardy dddedd

2B DArgraod e Hrdodod .

6.,35,143,323,

Options :

Question Number : 44 Question Id : 5494703000 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series ©REAT, Froe

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

AP 5ol @Qaa SURE q:-i)aej@a i)::m:_m.:}; Fre3ane0. e :)ijmi)lﬁm:)oa
O NArGEHed e HFdodod .

ACE . CFI.EIM . GLQ,

Options :
IOU
1.4
HOU
2. #
INT
3. %
4 % HNT

Question Number : 45 Question Id : 5494703001 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series wRZATL, Fraen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ardd 3od @YD B w8 PSS Dabdrdy JFedinoed. e Aodaray ddddod)
20 DATOrS0d 2700 HFbodod .

E.;H,L;R,

Options :



v
2. %

X
3. %

U
4. %

Question Id : 5494703002 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (46 to 48)



Data analysis &epod D34e

Note:

The following fable shows the number (in thousands) of toys of types P, Q . R . S and K
manufactured by company during the years 2016 to 2020. Study the table carefully and answer
questions 46 to 43.

TSR
2016 ool 2020 "foo;s-z‘_@bdm) 208 8 :»bog aoirdtaa P, Q,.R. 5, K3 ooy BSUQJ&E}

o (Do doae’) Sofh DS wrBI0d. & DEHLL Erem BB 46-48 H0% o BF) O

FJQPmm@::So&.
Type 680 —
P Q R 5 K
Year & mo
2016 300 250 178 180 165
2017 250 280 200 205 170
2018 280 275 192 220 185
2019 295 260 220 225 175
2020 320 285 230 240 180

Sub questions

Question Number : 46 Question Id : 5494703003 Display Question Number : Yes Is Question
Mandatory : No

What was the approximate percentage of increase in the manufacture of type ‘S’
toys from 2016 to 20207
2016 ool 2020 doddoan H0L 'S oo ef'ae orde’ 5,8 Tao WA

Jped?
Options :

20
1. %



2. % 7
4 26

Question Number : 47 Question Id : 5494703004 Display Question Number : Yes Is Question
Mandatory : No

The type of toy which recorded continuous growth in the manufacture during the
given period is

BN 50 S’ B0 oS’ Doossd (DD ) HG Sarce B2 B

Options :

1. % Q

Question Number : 48 Question Id : 5494703005 Display Question Number : Yes Is Question
Mandatory : No

The approxunate percentage of increase in the manufacture of all toys from 2016 to
2020

) o570 iAo sairde’ 2016 Aod 2020 S0 o 0 To, AT
ol 4 k



Options :
18

1. #

ja—
L}

14
4. ®

Question Id : 5494703006 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (49 to 53)



Data analysis ¢grod D3

Nofe:

The Pie charts given below represent allocations given to various items by two famulies ‘A’ and
‘B’. Study these charts carefully and answer questions 49 to 53,

A
Bt otwoeren A, B e d adyd Seranciped $08 - sy RrOFON. & DEPOR

g $63 49 dod 53 369 o P3) v dArETISed.

1200

Others items

Recreation

Recreation
il

bt el
(-]

Sub questions

Question Number : 49 Question Id : 5494703007 Display Question Number : Yes Is Question
Mandatory : No

What 1s the approximate percentage of allocation by the family ‘A’ on recreation

oo A DSTIS QN SEPOVORY) AATANT Jodd Feo ?

Options :
32 >

1.8 3
32



Question Number : 50 Question Id : 5494703008 Display Question Number : Yes Is Question
Mandatory : No

The ratio of the allocations by the family ‘B’ on fravel to that on other items is

S2600830 B HOIFETOL0), Q56 HDEID5H B0 SR ind

Options :
g§:9
1. %
g 10
2.
12 513
3. %
4 % 78

Question Number : 51 Question Id : 5494703009 Display Question Number : Yes Is Question
Mandatory : No

What is the ratio of the allocation on travel to that on recreation by the family ‘A’

Sioeo A DOIFEOD, HITDS @h®d SPonoRe ApD

Options :



1. %

5 % 2231
5:24

3.¢¥

4 % 4:9

Question Number : 52 Question Id : 5494703010 Display Question Number : Yes Is Question
Mandatory : No

What is the percentage of allocation made by the family ‘B’ on Food?

eotro B esirfco DEOS GG SEPo0Y) T

Options:
1@ 40

35
2. %

36
3. %

42
4, %

Question Number : 53 Question Id : 5494703011 Display Question Number : Yes Is Question
Mandatory : No



What is the ratio of allocation on food to that on travel by the family ‘B’

Sewoeo B & esifoeds, Hoirerdd S0d SPonope 0] dayd

Options :
1 % 14:5
52
2. %
c g
3. %
16 : 5
4. ¢

Question Id : 5494703012 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (54 to 55)



Data analysis 6508 D3im

Note:

120 students of a class participated in 3 events A, B, and C as follows: 9x students participated in
event ‘A’. 11x students in 'B’. 12x students in ‘C". 2x students in both ‘A’ and ‘B, 3x students
in both ‘B” and ‘C", 4x students in both “C” and ‘A’ and ‘x’ students in all the 3 events. The
number of students who participated in the event ‘C’ alone is 24. Based on this information
answer questions 54 and 55.

AP :
2% 3008 & ) 120 200 chﬁ?m A, B, C &3 2urety dobided’ 500 Jganm 3"?“’“&“’ ;00D A
& 9x Hobd :)m;ggam, b B & 11X Hod Dmﬁg)m, b C & 12v Hod Dmsg)m, A Sdosn
B obid 0 2 Hod Da»gg)m, B :6ain C dbded 3x Hod Dm@m, C Jo6oin A o & 4x
208, PG DOHAVTIE X od 3“&2‘@;&. whd C & drdidy ;‘J‘erﬁ":m Dav5g:u Pogy 24. &
parardo sgrdor 54 bato 55 ;;éloﬁn ammﬁésod.

Sub questions
Question Number : 54 Question Id : 5494703013 Display Question Number : Yes Is Question
Mandatory : No

The number of students who did not participate in any of the 3 events “‘A’, ‘B. and

i A T

A, B 2080w C Qorc Zuedees D e.;ébmnefm 3?%3”;»?) DET{ER) Doy

Options :



Question Number : 55 Question Id : 5494703014 Display Question Number : Yes Is Question
Mandatory : No

The number of students who participated either in the event *A’ or in the event ‘C’
but not in the event ‘B’ i3
2009 A & For 2005 € & D, D B & argo 0D Domjie doay

Options :

48

Question Id : 5494703015 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (56 to 60)



Coding and decoding problems 8ofi, & Sof dvijen

Note:

Each of the questions from 56 to 60 has different coding pattern. Identify the pattern and answer
questions 56 to 60.

arda;
56 -60 D0 o D3OS’ 28 D) © DO E ol DPADHATFAOT. &5 PN WBod)

56 ot 60 0% P VL PATTFTIIOC.

Sub questions

Question Number : 56 Question Id : 5494703016 Display Question Number : Yes Is Question
Mandatory : No

In a code the word ‘PERSON’ is coded as 214 and the word ‘MASTER is coded
as 164. then in the same code the word ‘BENGAL’ is coded as.

w¢ BE & PERSON' & Herd) 214 mar, MASTER ed Dord) 164 mar €6
3%, ©0d F& ° BENGAL e Hoedd 84

Options :

1« 94

104

124

144
4. %

Question Number : 57 Question Id : 5494703017 Display Question Number : Yes Is Question
Mandatory : No



In a certain code the word ‘PRINCE’ is coded as ‘DFJOQS’ and the word
‘MASTER’ is coded as ‘FSTUNB’ then in the same code the word ‘SOCIAL’ is

coded as.
2o3e BE e PRINCE ©3 Hoedy ‘DFJOQS mar, ‘MASTER' ©3 Sy
FSTUNB' e & 835, ©d & o° 'SOCIAL &3 ooedd B

Options :

JTPBMO

BMDIJTP
2. &

TPDIBEM
3. %

JBMTFD

Question Number : 58 Question Id : 5494703018 Display Question Number : Yes Is Question
Mandatory : No

It a certain code the word ‘MANGOQ' 15 codad as ‘JDKJL’. then in the same code
the word 'GRAPE’ is coded as.

welE B6 & MANGO' @3 Derdy UDKIL' ™ E6 33, od ES & 'GRAPE &3
D EE
Options :

. « ETYRC

EUYSC

3 ¢ DUXSB



DTXEB

Question Number : 59 Question Id : 5494703019 Display Question Number : Yes Is Question
Mandatory : No

In a certain code, the word ‘BRAIN’ 1s coded as ‘PKCTD’. then in the same code
the word ‘HEART is coded as
asdd 88 & Do BRAIN' A PKCTD m £& 82, =& F& " HEART o3 Heedd
g&

Options :

% VQCI

VICGIT
2. ¢

UTCGT

UQCGI
4, ® =

Question Number : 60 Question Id : 5494703020 Display Question Number : Yes Is Question
Mandatory : No

In a certain code the word ‘TEACHER’ is coded as ‘“VULGOUX' then in the
same code ‘STUDENT' is coded as.
2538 E& &° Do TEACHER A VULGOUX m &€ 83, »8 £& &° Do

‘STUDENT & 8&

Options :

XRUGEXYV
1. %



XSUHIXW

XSUGEXYV

XRUHIXW
4, &

Question Id : 5494703021 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (61 to 65)

Coding and decoding problems 8cof, & S'of diniden

Note:

Each of the questions from 61 to 63 has different coding pattern. Identify the pattern and answer
(uestions 61 to 65.

APEd:
61-65 H0% o HA)d” 28) HF) O DB Ecofi DEAWHAFHOTPE. & HEAD MEoc)

61 dnoc. 65 0% P3) VD VATFTTDD0L.

Sub questions

Question Number : 61 Question Id : 5494703022 Display Question Number : Yes Is Question
Mandatory : No

If ‘PROFIT" is coded as ‘RTQHKV". then in the same code ‘EIGHT’ is coded as
PROFIT & RTQHKV're E'E 3%, w8 £& ° EIGHT & §&
Options :

GIITV
1. %



GKILWV

GKIIV

GKHIV

Question Number : 62 Question Id : 5494703023 Display Question Number : Yes Is Question
Mandatory : No

If ‘FAVOUR’ is coded as ‘ROUVAF’® and ‘PAPER’ is coded as ‘REPAP’. then in
the same code ‘CERTAIN’ is coded as.

'FAVOUR' 2 ‘ROUVAF trawm, 'PAPER’ fo REPAF mrar € 8, wd B&

‘CERTAIN & B&
Options :

NAITREC

NIBSEREC
%

NAITERC
3. %

4.¢NIATREC'

Question Number : 63 Question Id : 5494703024 Display Question Number : Yes Is Question
Mandatory : No



If ‘RANGER’ 15 coded as ‘ARGNRE’. then in the same code ‘CHAIRS’ is coded
as
‘RANGER’ %0 ‘ARGNRE’ = & &%, wd £& " 'CHAIRS & €&

Options :

, x» CHIASR

HCIASR

HCIARS
%

CHAISR
4. %

Question Number : 64 Question Id : 5494703025 Display Question Number : Yes Is Question
Mandatory : No

If ‘ROAD’ is coded as ‘GDRU”, then in the same code ."BEAT". is coded as
‘ROAD’ 42 ‘GDRU = £& @39, @ €4 o BEAT & £6&

Options :
WDHE

1.¢

WDGE

WDHF

WCHE



Question Number : 65 Question Id : 5494703026 Display Question Number : Yes Is Question
Mandatory : No

If ‘SWEET" is coded as ‘QUCCR’". then in the same code. ‘MEALS" is coded as
'SWEET’ 40 ‘QUCCR'™ §& 3%, »d 86 o° 'MEALS' & E&

Options :

KCZJIQ

1. &

KDYIQ

KCYI
3. % o

KCYIQ
4,

Question Number : 66 Question Id : 5494703027 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems o'.'i&, Aoodo, dndse "nJ;ﬁJ"n)!SUJ

If 9% February 2012 was Thursday. the day of February 19, 2016 was
2012 DodeyGo edB 9 O 8O Marde wond 2016 HoddnGo HpHb 19 5 86

203y Ba

Options:

Tuesday

aoiWaI0o
1. %

Wednesday

2 % CARIATSL el



Friday

N T=twilels
3.¥
Saturday
4 % B o0

Question Number : 67 Question Id : 5494703028 Display Question Number
Mandatory : No

Date, Time and arrangement problems é&, Racho, bty "'rom"n)sﬂ.‘.l

. The time between 2 and 3 O’clock at which the minute hand and the hour hand in

a clock are in the same straight line but in opposite directions, is

28 Bairto &° 2 bain 3 ot ME; AT AV, ot Aew 28 HEV B’

gotar HTS (Dgy) B3Y° &ol Do

Options :
3 . .
:Hﬁ minutes past 2 o’clock
3
2 rioteny 42— Dnsren
1. %
42— minutes past 2 o’clock
11
2 riotren 421;'1 DD3ren
2. %

3.v

: Yes Is Question



7o
43ﬁ1]_m111te5 past 2 o’clock

2 riotien 431—f1f‘3}i&3&=m

.
441'—11nj1111te5 past 2 o’clock

-

2 otoen 445 H0Iren

4. %

Question Number : 68 Question Id : 5494703029 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems ﬁ&, facio, bty a:m:bsw

A clock is set right at 8,00 am on 1-1-2018. The clock gamns 15 min in 24 hours.

The time(nearly) on the clock when the actual time is 10.00 am on 04-01-2018 13

a8 (ALadroedy B34 1-1-2018 3 8.00 am £ 26 S, & (doirdo DN 24 foted)
15 ddnaren wdborr orpdod. 88 4-1-2018 3 TrYaDS oo &dabe 10

(10E38I0055)65), & (dairdo AFD D00l RuarEsT

Options :

10.42 am

10.46 am
2.

11.00 am



11.05 am

Question Number : 69 Question Id : 5494703030 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 3&, Aaocio, s ‘romrosw
X' 15 the father of Y’ and ‘Z" 15 the son of “W”, ‘R’ 1s the brother of ‘X" and Y’

15 the sister of ‘Z°. Then “W" s telated to ‘R as

Y 8 X dog, dndoswy W aing) Ecodd 7. X & R Yt dvbato 7 awg, esd

¥ @ R & W & o doogo

Options :
Sister
e ta)
’|_ W
Niece
2058 cen
2_ W

Sister-in-law
SB& /a00cen

Brother-in-law

ALY

Question Number : 70 Question Id : 5494703031 Display Question Number : Yes Is Question
Mandatory : No



Date, Time and arrangement problems .‘_'i&., Ao, bty ?‘\)mfﬁﬁm

. The distance between stations ‘Y and ‘Z’ is 400 km and the speed of train from

A .4 ; ;
Vg ‘2" 18 = th of the maximum speed allowed. A car departs from the station

“Y" at 2.00 pm and arrived the station ‘Z’ at 7.30 pm. A train depatts from station
“Y* at 2.00 pm and arrived the station ‘Z" at 10.00 pm. By how much the car’s
speed is more than the maximum allowed speed of the train. if the car was stopped
30 minutes for lunch break?

Dot Hago Y, Z © gy Grdo 400 & Do wdow Y wod Z Fob Jew, s

4
22020800 (1BHSc0es” ?:. S0k ol PoIredpod. [AD Y ol wE b 2.00

pm & eoiendd ingt‘qf} 7 ¢y 7.30 pm & ©Bod. %33!5 Y ook &g Dew 2.00 pm S
Roendd H0d Z £ 10.00 pm £ Shcod. Tm A Had ITardd 30 ddvdrew

8, 520 Drfo Jew & BB (183 Do Sold Jogd JE.D ?

Options:

40 Kmv'hr
1. %

24 Km/hr

7.5 Km/hr
3.¥

16.5 Km/hr
4, %

Question Number : 71 Question Id : 5494703032 Display Question Number : Yes Is Question
Mandatory : No



Date, Time and arrangement problems n'.'ién, Danobo, wdEe hmﬁﬁm

Anil started from his house for school ‘7" minutes later then his normal time and

. 4 ; .
travelled with gof the usual speed to arrive at the school ‘7' minutes early. Next

: . . . e
day if he started ‘" minutes earlier than the previous day and travelled with Hof

his usual speed. then he would have reached his school

AES0TeN Paao Cof T DDnaren B0 @ ool ooy poben 36,

4 .
AEFe) DS —%ﬁgﬁn Do & poirddod. T Daren et FETOL

BOOT) @, ST Ber awot Her dof] 1 DIoaren &Aoo soben &b

8
arEsnren Do o i Srio F Hoireodd, eoi) end FoTod) 3bsod paaDo

Options :

‘" minutes late

‘P DZodren e3RIDFOTT

1. %

Exactly on time

;&aaom Sbey Pzuaio
2. % =

3t minutes late

3 Duaren eSO 0T
3.¢

: B

— minutes late

10

— Ofnaren esercerne

10
4, %

Question Number : 72 Question Id : 5494703033 Display Question Number : Yes Is Question



Mandatory : No

Date, Time and arrangement problems v'.'i&, Ascdo, wdndse “mm‘n:ém

In a group of boys sitting in a row, Ramesh is 8% from the left and Mohan is 11T
from the right. If Ramesh is fourteenth from the left when they interchange their

places, then the position of Mohan now from the right is

28 Dbes EPoND) EPend rbospe’, Jedndoed 8 O Fooes® 68, Hidod 11 D
'goao &5 ArS T . DB FHA0) PEOAFE BHIYD IER0d HEHTYD

0 &° 50 Godd, O ol D YRS Fdo

Options:

15

1. %

18

Question Number : 73 Question Id : 5494703034 Display Question Number : Yes Is Question
Mandatory : No



Date, Time and arrangement problems o'.'i&, oo, wnbse amaﬁm

In a code language if ‘+" means ‘. ‘' means ‘-, ‘-’ means ‘=’ and ‘+' means

A then2 +448-16x32+64x 128 = 256=

28 BE apdes® +' e9085 ', ¢ 9083 =, ' #9063 ‘= 20Bain '+ 906 '+, evond

2+4 +8-16x32=64«128 =256 -

Options :
1% 20
T
2. % 7
64
3. %
164
4.+

Question Number : 74 Question Id : 5494703035 Display Question Number : Yes Is Question
Mandatory : No

Date, Timme and arrangement problems 35, oo, wdiodse ‘ram*'n:b5m

If3#1=20,6%1=50and2*6=-40then5*8=
3#1=20,64+1=50:0080002+6=-40e0085+8 =
Options :
—50

. —30



30
3. %

100
4, ®

Question Number : 75 Question Id : 5494703036 Display Question Number : Yes Is Question

Mandatory : No

Date, Time and arrangement problems S8, vAado, @b Ra0Rfe

If B stands for “='. “*C" stands for '¢’, ‘D’ stands for =, ‘E’ stands for ‘#'. ‘F’

stands for “<’ and ‘X’ . ‘y’ and ‘Z’ are real numbers. then (4x F 5v) and (5v E 32)

=4

X, Y, 7 e TR Dopony, >’ B Far, ‘2 D CHFAr, = 5 D&ar,

20 E&ar, ‘< 20 F 8ar ardd, e (40 F 5y) 2odain (57 E 32) =

Options :

4x D 3z
4x C 3z
4x B 3z
4x F 3z

4, &

Communication Ability

Section Id : 54947044



Section Number : 2

Mandatory or Optional : Mandatory
Number of Questions : 54
Section Marks : 70

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 76 Question Id : 5494703037 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

discordant
Options :

empathetic
1. #

pessimistic
2. %

incongruous

agile

Question Number : 77 Question Id : 5494703038 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Entreat

Options :

1 ¢ plead



praise

2_ W

3 % refuse
resonate

4, %

Question Number : 78 Question Id : 5494703039 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Implore
Options :

1 % demand

5 % asslre

plead

look inside
4, %

Question Number : 79 Question Id : 5494703040 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Disclose

Options :



cover

conceal

disguise

reveal

Question Number : 80 Question Id : 5494703041 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct meaning of the word given:

To corner a marker means to a market.

Options :

1w lose

identify

3 % reject

to acquire enough
4.

Question Number : 81 Question Id : 5494703042 Display Question Number : Yes Is Question
Mandatory : No



Choose the correct meaning of the word given:
Momentous
Options:
very umportant

1.4

5 % risky

momentary
3. %

sacred
4, %

Question Number : 82 Question Id : 5494703043 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

That which is sure to happen

Options :

inedible

inaudible

incurable
3. %

inavitable
4. &



Question Number : 83 Question Id : 5494703044 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Judicious
Options :
finicky

1. %

carefully considered
2.«

jovial

Narrow

Question Number : 84 Question Id : 5494703045 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Axiomatic

Options:

mathematic

numnismatic
2. %

self-evident
3.



4. % aromatic

Question Number : 85 Question Id : 5494703046 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Paragon

Options:

| x &un

paraffin
2. %

3 ¢ model

paradox
4, %

Question Number : 86 Question Id : 5494703047 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

A collector of ancient relics

Options:

“ antidote

antiseptic



antiquary
3.

4 % aviary

Question Number : 87 Question Id : 5494703048 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
To deviate from focus

Options :

AR
| w Tegress

, w IDgress

progress
3. %

digress
_‘f/ L=

Question Number : 88 Question Id : 5494703049 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

A remedy to counter the evil effects of poison

Options:

anecdote
W



antidote
2.

antipodes
3. %

antibody
4, %

Question Number : 89 Question Id : 5494703050 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Latent
Options:
hidden

1.4

recent

rational

progressive

Question Number : 90 Question Id : 5494703051 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the correct meaning of the word given:
The outgoing CEO was very friendly with the press and it really him even
for what he did not achieve.

Options :



1 % criticized

lionized

showered

downplayed

Question Number : 91 Question Id : 5494703052 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

D.C.F. stands for

Options :

Discarded Cash Flow

Discounted Cash Flow
2. ¥

Discarded Cash Fund
3. %

Discounted Cash Fund

Question Number : 92 Question Id : 5494703053 Display Question Number : Yes Is Question
Mandatory : No



Choose the appropriate answer:

The contingency theory stresses on the importance of

Options :

bossism

5 % funding

environment

manpower
4. %

Question Number : 93 Question Id : 5494703054 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

ISDN stands for

Options:

Integrated Sectional Digital Network

1. %

Improved Services Digital Network
2. #

Integrated Services Digital Network
3.¢

Integrated Server Digitalized Network
4, %



Question Number : 94 Question Id : 5494703055 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer':
A sentence used to check transmission by a terminal

Options :

fuzzy logic
1. %

fox message
2. ¢

full duplex

flow charge
4, %

Question Number : 95 Question Id : 5494703056 Display Question Number : Yes Is Question
Mandatory : No
Choose the appropriate answer:

Surge price in services such as airlines or aggregate cab services are generally restored due
to
Options :

1% Human greed

Capacity limitations
2. ¢



3 % Price war

The policy of make hay while the sun shines
4, #

Question Number : 96 Question Id : 5494703057 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer':
‘kbps” stands for
Options :

kilo bits per second
1.4

kilo bites per second

2. *

kilo bels per second
3. %

kilo boots per second

Question Number : 97 Question Id : 5494703058 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
A blue collar job is one which involves working

Options :

1. %



at the desk in an office

with one’s hands
2.

3 % late at night

continuously for 24 hours
4. %

Question Number : 98 Question Id : 5494703059 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
“To be on the same page” means

Options:

to stop reading
1. %

5  loagree

, 1O disagree

to lose interest in reading
4. %

Question Number : 99 Question Id : 5494703060 Display Question Number : Yes Is Question
Mandatory : No



Choose the appropriate answer:

A financial instrument that contains a written agreement to repay the amount at an agreed
fime 1§
Options :

insurance bond

promissory note

hundred rupee note

affidavit

Question Number : 100 Question Id : 5494703061 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer':
Which of the below is not an indirect tax?

Options :

| % GST

5 % Sale tax

Income tax
3.¢

Excise
4, %



Question Number : 101 Question Id : 5494703062 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

Usually our purchasing power increases because of

Options:
1 w inflation

deflation
2. %

demonetization

world bank policy
4. %

Question Number : 102 Question Id : 5494703063 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

A method used by fraudsters to capture customer’s personal or account information of

credit card is called
Options :

money laundering
1. %

skimming



block chain system
3. %

Nostro account
4, %

Question Number : 103 Question Id : 5494703064 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

A senior official appointed by RBI to handle and redress complaints against deficiency in
certain banking services is known as
Options :
LIBOR

MIBOR

banking ombudsman
3.¢

public credit registry

Question Number : 104 Question Id : 5494703065 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
In business parlance. ‘Merchandise’ means

Options :

Merchant activity of a company



Products or goods bought or sold by a company
2. ¢

Merchants association related to a company
3 %

The business profit of a company
4, ®

Question Number : 105 Question Id : 5494703066 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
‘Overheads’ in accounts of a business organization refer to
Options :
Day-to-day to costs of running a company

1.4

Over-tuled expenditure of a company
2. #

Costs different from operating costs of a business
3. %

Costs or expenditure that are slighted by the accountant
4, %

Question Number : 106 Question Id : 5494703067 Display Question Number : Yes Is Question
Mandatory : No



Fill in the blank by choosing the appropriate answer:

Lack of civic sense is the root cause all the problems of sanitation.

Options :

1 % on

Zq’,@f

off

4 % with

Question Number : 107 Question Id : 5494703068 Display Question Number : Yes Is Question
Mandatory : No

. Fill in the blank by choosing the appropriate answer:
In ancient India. Indian merchants had been engaged in overseas business
cenfuries,

Options:

1 % in

2Rﬁ,,frc}r

3 % since

4% O



Question Number : 108 Question Id : 5494703069 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

Applications for the post should be received April 25th.

Options:

1 % with

for

at

4. &

Question Number : 109 Question Id : 5494703070 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

He is a man who always stands his words,

Options :



Question Number : 110 Question Id : 5494703071 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

She working at the college as soon as she gets her US visa.

Options:

had stopped

was stopping

will sto
3.¥ .

stopped

Question Number : 111 Question Id : 5494703072 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer':

It was raining by the time we finished the game.

Options :

lazily

5> @ heavily



practically

4w periodically

Question Number : 112 Question Id : 5494703073 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

I never seen such a movie before.

Options :

1 have

has

3 % were

did

Question Number : 113 Question Id : 5494703074 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

The manager wanted to bring a real change in the company.

Options:

upon

about



toward
3. 4

at

Question Number : 114 Question Id : 5494703075 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

The streets were flooded when the pipeline bursted.

1 2 3 -+
Identify the error
Options:

1

1. %

Question Number : 115 Question Id : 5494703076 Display Question Number : Yes Is Question
Mandatory : No



Choose the appropriate answelr:

He broke a antique and expensive vase.

| Z 3
Identify the error

Options :

1
1. %

)

3.¢

Question Number : 116 Question Id

Mandatory : No
. Choose the appropriate answer:
It is not very warm today

Put a question tag.

Options:

1 % Wasn'tit?

was it?
2. %

3 % isn’t it?

4

: 5494703077 Display Question Number : Yes Is Question



s 1t7

Question Number : 117 Question Id : 5494703078 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:
We are committed learning granumar.

Options :

1 % Wwith

5> % about

fo

for

Question Number : 118 Question Id : 5494703079 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Change the sentence into passive voice ‘Read the story carefully’.
Options :

. You read the story carefully

Let the story read carefully
2. ®



3 % Let you read the story carefully

Let the story be read carefully
4.

Question Number : 119 Question Id : 5494703080 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

The teacher said. “*‘Have you done your homework?”
Change into indirect speech.

Options :

. The teacher zave homework

The teacher told do homework
2 %

The teacher asked if I had done my homework
3.

. The teacher said if you had done homework
4.

Question Number : 120 Question Id : 5494703081 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

I prefer sleeping under a roof sleeping outdoors

Options :



than

fo

but

also

Question Number : 121 Question Id : 5494703082 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

Letus our differences and work for our nation

Options:

set up

5 % stepup

set aside
3.¢¥

_ look through
4, % :

Question Number : 122 Question Id : 5494703083 Display Question Number : Yes Is Question
Mandatory : No



. Fill in the blank by choosing the appropriate answer:

Much of what he says untrue.

Options :

are
1. %

were

aren’t
4, ®

Question Number : 123 Question Id : 5494703084 Display Question Number : Yes Is Question
Mandatory : No

. Fill in the blank by choosing the appropriate answer:

The meaning of ‘a herculean task’ is

Options :

1 % a task master

the courage of lion
2. %

hard job
3.¢

boastful talk
4. %



Question Number : 124 Question Id : 5494703085 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer':
My little sister is afraid dogs.

Options:

Question Number : 125 Question Id : 5494703086 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blanks by choosing the appropriate answers:

I your company his.
Options :
like. with
1. %
prefer. to
2.
prefer. for
3. %
prefer. with



Question Id : 5494703087 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (126 to 130)

Read the passage below and choose the correct answer for questions 126-130

The sun 1 the most direct source of energy. It powers the flow of wind and water cycle
and sustains life. Plants use this energy to synthesize carbohydrates from simple substances like
carbon dioxide and water. All the food is derived from the process of photosynthesis. In fact.
energy by which all animals including human beings live is generated by the oxidation of the
food produced by the plants. The sun contains in its core hydrogen nuclei moving at very great
speeds. Whenever these nuclei collide and fuse to form a nucleus of heavier element it results in
nuclear reactions, These reactions generate tremendous amount of energy. It 1s this energy that
power su.

The sun emits lights of different wavelengths. If sunlight is passed through a prism each
of these wavelengths is refracted by a different amount. Violet has the shortest wavelength and
red has the longest. The wavelength of green is midway between that of violet and red. Light
with wavelength shorter than that of violet is called ultraviolet light. Light with wavelength
longer than that of red light is called infrared light. About one third of the light from the sun is
infrared.

We know that nuclear reactions that go on in the interior of the sun liberate a large
amount of energy. Nuclei of deuterum. which is the heavier isotope of hydrogen. collide in the
sun’s inferior to produce helium. The energy liberated in these reaction fires the sun. which. in
turn, emits lights of different wavelengths, Of these wavelengths, it is the infrared wavelengths
that heat up the earth. The reaction in which the hydrogen in the sun is converted into helium is
called a fusion reaction.

Sub questions

Question Number : 126 Question Id : 5494703088 Display Question Number : Yes Is Question
Mandatory : No

Light with wave length shorter than that of violet is called

Options :

mfrared
%

green



ultraviolet

blue

Question Number : 127 Question Id : 5494703089 Display Question Number : Yes Is Question
Mandatory : No

How are carbohydrates synthesized?
Options :

By the energy radiated from the sun

From carbon dioxide and water

By the green leaves of the plants

By the process of oxidation

Question Number : 128 Question Id : 5494703090 Display Question Number : Yes Is Question
Mandatory : No

What is fusion reaction?
Options :

The process of combining two gases
1. %



The reaction in which hydrogen is converted to helium in the sun

. The basis of nuclear reaction in the sun
3.

The process of deuterium colliding with the hydrogen

Question Number : 129 Question Id : 5494703091 Display Question Number : Yes Is Question
Mandatory : No

What is the main idea of the first paragraph?

Options :

The sun is at the centre of our solar system
1. %

There is tremendous activity at the core of the sun
2. %

The sun sustains all life in our plane
3.4

The sun radiates lights of all wavelengths
4. %

Question Number : 130 Question Id : 5494703092 Display Question Number : Yes Is Question
Mandatory : No

What is deuterinm?

Options:

A particle found in the sun



An 1sotope of helium

Catalyst for nuclear reaction

A heavier isotope of hydrogen
4.

Question Id : 5494703093 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (131 to 135)

Read the passage below and choose the correct answer for questions 131-133

“A little learning 15 a dangerous thing” — when Alexander Pope wrote this famous line
he had m mind contemporary poetasters. versifiers, and critics who made themselves ridiculous
on account of their shallow and superficial knowledge. But what was said about these people has
a ring of universal truth. In every walk of life. be it arts or literature. science or politics.
engineering or economics. law or administration, incomplete and superficial knowledge always
leads to dangerous consequences. An ill-educated teacher will misguide the students. An
incompetent surgeon would play with the lives of his patients. An ill-trained solider will become
a danger to his comrades rather than his enemies. A lawyer without a thorough knowledge of
law would ruin his clients, similarly, an inefficient engineer will build bridges which may fall
under the weight of the vehicles on it. Therefore, we cannot rely on persons who are not
proficient in their subject. Such persons are a danger to themselves and to others also. They
never realize their short comings and hence make no progress. A man of little leaming is more
prone to be conceited than a really learned person, for the latter regards himself as a mere child
sathering pebbles on the shores of the ocean of knowledge.

Sub questions

Question Number : 131 Question Id : 5494703094 Display Question Number : Yes Is Question
Mandatory : No

What is the meaning of the word ridiculous?

Options :



Stupid

1. ¢

5 % Super

3 % Dangerous
Contemporary

4. %

Question Number : 132 Question Id : 5494703095 Display Question Number : Yes Is Question
Mandatory : No

What is not a walk of life?
Options :

1 % Arts

Science

Engineering

Il-educated
4

Question Number : 133 Question Id : 5494703096 Display Question Number : Yes Is Question
Mandatory : No

What leads to dangerous consequences?

Options :

Ring of universal truth



Incomplete and superficial knowledge
2.

3 % Difterent walks of life

Ocean of knowledge

Question Number : 134 Question Id : 5494703097 Display Question Number : Yes Is Question
Mandatory : No

Who will misguide?
Options :

A professional
1. %

An ill-trained person
2.«

A child gathering pebbles

A trained person
4, %

Question Number : 135 Question Id : 5494703098 Display Question Number : Yes Is Question
Mandatory : No

Who 1s a mere child gathering pebbles on the shore of the ocean of knowledge?

Options :



A man of little learning

A really learned person

A concetted man

A person who 1s not proficient in lus subject

4, %

Question Id : 5494703099 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (136 to 140)

Read the passage below and choose the correct answer for questions 136-140

As long as 340 BC, the Greek philosopher Aristotle in his book ‘On the Heavens’. was
able to put forward two good statements for believing that the earth was a round sphere rather
than a flat plate. First he realised that eclipses of the moon were caused by the earth coming
between the sun and the moon. The earth’s shadow on the moon was always round, which would
De true only if the earth was spherical. If the earth had been a flat disc. the shadow would have
been elongated and elliptical, unless the eclipse always occurred at a time when the sun was
directly under the centre of the disc. Second. the Greeks knew from their travels that the North
star appeared lower in the sky when viewed in the South than it did in the more northerly regions
(since the North star lies over the North pole). it appears to be directly above an observer at the
North pole. but to someone looking from the equator. it appears to lie just at the horizon. From
the difference in the apparent position of the North star in Egypt and Greece. Aristotle estimated
the distance around the earth was 400.000 stadia.

Sub questions

Question Number : 136 Question Id : 5494703100 Display Question Number : Yes Is Question
Mandatory : No

Aristotle belonged to which country?

Options :



Istanbul
W

Greece

Egypt

Turkey

Question Number : 137 Question Id : 5494703101 Display Question Number : Yes Is Question
Mandatory : No

What does put forward mean?
Options:

1 ¢ Propound

Profound
2. %

Discover

4 % Deny

Question Number : 138 Question Id : 5494703102 Display Question Number : Yes Is Question
Mandatory : No

The Greeks found that the North star appeared lower in the sky

Options :

1. %



when viewed from the North pole

w when they travelled

when viewed in the South
3.

from the book *“on the heavens™
4, %

Question Number : 139 Question Id : 5494703103 Display Question Number : Yes Is Question
Mandatory : No

The North star appears to be directly above an observer

Options:

at the North pole
1.4

at the Equator

on the Horizon

at the South pole
4. %

Question Number : 140 Question Id : 5494703104 Display Question Number : Yes Is Question
Mandatory : No

The meaning of the word elongated is

Options:



short and rectangular

1. %
square
2. #
long and thin
3.¢
spherical
4. =

Question Id : 5494703105 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (141 to 145)



Read the passage below and choose the correct answer for questions 141-145

The Hyperloop is a proposed mode of passenger and freight transportation. first used to
describe an open source vactrain design released by a joint team from Tesla and SpaceX.
Hypetloop is described as a sealed tube or system of tubes with low air pressure through
which a pod may travel substantially free of air resistance or friction. The Hyperloop could
potentially convey people or objects at airline or hypersonic speeds while being energy
efficient compared with existing high-speed rail systems. This. if implemented, may reduce
travel times compared to train and airplane travel over distances of under approximately
1,500 kilometers (930 miles).

Elon Musk first publicly mentioned the Hyperloop in 2012, His initial concept
incorporated reduced-pressure tubes in which pressurized capsules ride on air bearings
driven by linear induction motors and axial compressors. The Hyperloop Alpha concept was
first published in August 2013, proposing. and examining a route running from the Los
Angeles region to the San Francisco Bay Area. roughly following the Interstate 5 corridor.
The Hyperloop Genesis paper conceived of a hyperloop system that would propel
passengers along the 350-mile (560 km) route at a speed of 760 mph (1.200 kmv/h). allowing
for a travel time of 35 minutes. which is considerably faster than current rail or air travel
times. Preliminary cost estimates for this LA-SF suggested route were included in the white
paper — US$6 billion for a passenger-only version, and US$7.5 billion for a somewhat
larger-diameter version fransporting passengers and vehicles. However, transporfation
analysts expressed doubts that the system could be constructed on that budget. including
some predictions that the Hyperloop would be several billion dollars over budget once
construction, development and operation costs are taken into consideration.

The Hyperloop concept has been explicitly “open-sonrced” by Musk and SpaceX, and
others have been encouraged to take the ideas and further develop them. To that end. a few
companies have been formed, and several interdisciplinary student-led teams are working to
advance the technology. SpaceX built an approximately 1-kilometer-long (0.62 mi) subscale
track for its pod design competition at its headquarters in Hawthorne. California. TUM
Hyperloop set the world record of 463 km/h (288 mph) in July 2019 during the Hyperloop
pod competition at SpaceX. Virgin Hyperloop conducted the first human trial in November
2020 at its test site in Las Vegas.

Sub questions

Question Number : 141 Question Id : 5494703106 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not true about Hyperloep?

Options :

- It is lacking in investment

2. %



It is considerably faster than current rail or air travel

It is an open-source concept
3. %

It is a proposed mode of passenger and freight transportation
4, %

Question Number : 142 Question Id : 5494703107 Display Question Number : Yes Is Question
Mandatory : No

The Hyperloop Alpha concept proposed

Options:

an open-source concept

the Hyperloop pod competition at SpaceX
2. %

that the Hyperloop would be several billion dollars over budget

a route running from the Los Angeles region to the San Francisco Bay Area
4.

Question Number : 143 Question Id : 5494703108 Display Question Number : Yes Is Question
Mandatory : No

Choose the in-correct sentence.

Options:

The Hyperloop concept has been explicitly “open-sourced™ by Musk and SpaceX
1. %



The Hyperloop Alpha concept was first published in August 2015
2. ¢

TUM Hyperloop set the world record of 463 kim/h (288 mph) in July 2019
3. %

The Hyperloop is a proposed mode of passenger and freight transportation
4, %

Question Number : 144 Question Id : 5494703109 Display Question Number : Yes Is Question
Mandatory : No

“Open-sourced” implies that
Options :

considerably faster than current rail or air travel
1. #

others are encouraged to take the ideas and further develop them
2. ¥

several billion dollars over budget
3. %

None of the above

Question Number : 145 Question Id : 5494703110 Display Question Number : Yes Is Question
Mandatory : No

What did Virgin Hyperloop do in November 20207

Options :



Won the pod competition at SpaceX

1. %

Set the world record of 463 km/h (288 mph)
2. ®

Built an approximately I-kilometer-long (0.62 mi) subscale track for its pod design
3. %

Conducted the first human trial
4.

Mathematical Ability

Section Id : 54947045
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 55
Section Marks : 55

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 146 Question Id : 5494703111 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosritdd &mgﬁa
Ifm=0,1m=1and 2" = {2""‘}”2 then 'm " in terms of ‘i’ 13

m=0, 1= 1 adoso 27 = (2")" wond, ey 1 ahog), DEsues’
Options :

(}}F?-_l }:

1. %



|
—

i

Question Number : 147 Question Id : 5494703112 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evoSricdeh E:eomgéa

f2X=4=16Fandx1rz=1728 . then 5x + 3v + 2z =

=

2" =4"=16 20bodw xyz = 1728 eso0@. esin e Sx+ 31+ 22=

Options :
84

Question Number : 148 Question Id : 5494703113 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability eosridd a»mgﬁa

In a mixture of 48 litres of milk and water the ratio of milk and wateris 5 : 3. If
2 more litres of water is added to this mixture. then the ratio of milk to water in

this new mixture 1s

48 Beyg e B0 A® Jzdvo &, Jren wboin Ha Dy 5:3. & Mgards
2 Dixg DD BBy, & ey Mo &° SPew 0B D DD
Options:

1 % 254

3. %

4.

Question Number : 149 Question Id : 5494703114 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability oS icds bmgﬁa

A bag with 200 coins consists of 10 rupee. 5 rupee and 2 rupee coins whose values

are in the ratio 10 ; 15 ; 8. Then number of 5 rupees coins in the bag 1s

200 Tr@anen £DAS 28 Hode &) 10 arfen, 5 arfen 20Bow 2 arjes EIMY
@og), Devden 10 : 15 : 8 @ & amyon. © dod & Mo 5 drlen PEe

<
¥
c\)DS}J?J

Options :

75

1.4



80

2. %
L x 84
4% %

Question Number : 150 Question Id : 5494703115 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wodrrdd bmgéa

If Rs. 19,200 is divided between ‘P, ‘Q’ and ‘R’ in such that for every rupee that
‘P* has, ‘Q’ has 20 paise: and for every rupee that ‘Q’ has, ‘R’ has 40 paise, then

the share of ‘R’ in rupees 1s

P’ 20 ol pf crarond 20 plen 'Q' DA eofitn, 'O ¢BR &ol DA drdrond 40
poen R €6 softotw, 6@ 19,200 0 & P, Q' 20baiw R © 06 DowE, RN ED

R o), ot aF| © &

Options :



Question Number : 151 Question Id : 5494703116 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eogriedsd bmgﬁé

\/mnh JE+ 5=
Options :

J11

Question Number : 152 Question Id : 5494703117 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosnedd E}v;ﬁ:gﬁa

3 ——
q' 102 + V625

Options:

%



Question Number : 153 Question Id : 5494703118 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eogrcdsd Ik g

 § 2 :a':\/g+\/£aud ¥ =+{121 ++/4 . then
.1'=~./§2—-./E£u5m:m V= qlll—ﬁaﬁom@. 93N

Options:

x<y
1.4

X >3
2. %

xX=3
3. %

=y
4, %

Question Number : 154 Question Id : 5494703119 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wosiedd &»mgﬁa

The number of zeros required to write the integers 1 to 200 (both inclusive) is

I &0l 200 565 (Dot wosk 330335&:@6 i) Doy TOEDE BHdGA
ma:}u r‘aoa:»}g
Options :

| % 40

31
4.+

Question Number : 155 Question Id : 5494703120 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosird &»mgﬁa
The least 5 digit number that leaves the remainder 17 when divisible by 18. 24, 30
is

18, 24, 30 0@ wﬁoﬁé;’g}‘)m 17 & #aom %3& 5 es08e) 93;3 "ﬁ:@é‘g}é

Options:
10035
1. %
10067



10075

10097
4.+

Question Number : 156 Question Id : 5494703121 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosied &mgﬁa

2 7
A person spent STh of his salary on house rent. ;th of the remaining amount on
{

2 - .
food.;rd of the remaining amount on miscellaneous and rest he saved. If the

amount spent on miscellansous is Rs.13.300, then the amount he spent on house
rent. in rupees is

2 2
wE D8 @D B — D Doy ol WP, MDD TIE' — 5 Do B EINID,
g 5
"

m%émmﬁgaamh@mmmﬁmeﬁmm@ﬂm DADAE e BT,

RSCRNOT DOy B Ty, 6@ 13,300 eond, B wot) ©Fp by 8D Tawy

ar| e &°

Options :

| x 8300

> 9500

10500

11500



Question Number : 157 Question Id : 5494703122 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evogiedeh .Ebaugﬁa
: = X 9 Z
Haxoyrz=3 4 8 then —5——
VZ ZX XY
=
X1y:iZ=3:4:5e0008, ety —i—i— =
G i
Options :
1222005 15
1. %
5 % 20:15: 12
9:16:25
3. ¢
25:16:9
4, %

Question Number : 158 Question Id : 5494703123 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evogricich bmgﬁé

16[42 {3517 -4-7)-5}-3]=

Options:



400

480
3.¥

4 % 496

Question Number : 159 Question Id : 5494703124 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eodricaeh &mgﬁa

The ascending order of the fractions
97 99 101 103 .
103 105 108 110

97 99 101 103
103 105 108 110

DA S0oen g, esfsrmgao

Options :

103 101 97 99
® .;:' o

110 108 103 105

1. %
101 97 103 99
108 103 110 105
2. %
103 97 101 99
P < <
110 103 108 105
3, %



101 103 97 99
108 110 103 105

Question Number : 160 Question Id : 5494703125 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability ol I g

3 3 ,
I 33;% of 29;% of ‘ix7is 357. thenx =

s
¥’ gdwg) 29—% 03:132'(1533—{!"0 Dewsd 357 eond, ey X' =
A | 5

Options :
15000
1. % I
20000
2. % 7
25600
3. 7
30000
4. % 7

Question Number : 161 Question Id : 5494703126 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability oSt .&»mgéa

In an election between two candidates. one got 68% of votes and won by a
difference of 3240 votes. If there are no invalid votes, then the total number of

votes polled is

BEW BBIER D5 ORI W Vg & wedE 68% Ltw DA w8y 3240 L od

fendorre. IGD L0 JD Ty TS wond dwdo &ty voay

Options :
0400
1. %
9000
‘-“.-’-"?
8600
8800
4.

Question Number : 162 Question Id : 5494703127 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability oS ritid anmgﬁa

1 : : : A
A man lost 12—%of his money in a business. After spending 70% of the
¥

remaining money. if he is left with Rs. 210, then the amount of money (in Rs.) he

invested 1 that business is

3 | : g
e S8 aﬂsﬂvéoeﬁ‘ B3 A RT;imCé“’ 12—%% s]ﬁﬁmmlm. HADS E;T:m&a‘i‘ﬁ
= by o 3, £

-

70% 200y DBY SETS, 9B H¢ B¢ 210 6r|en 2D o, Le & Trdods’

pévad 263 Faw) (dr|e &°)
[5) ) &
Options :

340

5 % 780

300
3.¢

Question Number : 163 Question Id : 5494703128 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability woddiedd a»mgﬁa

By selling two articles for a sum of Rs 17,700 a dealer makes a profit of 15% on
the first article and a loss of 15% on the second. On the whole if he gets a net loss

of Rs. 300. then the cost price of the first article (in rupees) i3

B0ty dpapwy 6. 17,700 Angands) wice TT° w8 TP 26 S
15% erardy 208050 Bocd AR 15% 3o Todarc. ango NG WO

dr 300 © D0 Ahan Fodd, & 206H DY) L), &3 2o (arfo e )

Options :
18.000
1. %
% 14.000
10.000
3. %
3.000

Question Number : 164 Question Id : 5494703129 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evosriedeh avmgﬁa

Two successive profits of 10% and 5% are equal to a single profit of

JFooHBE eriawen 10% aboin 5% o £ Harao eacg D erzian

Options:

1
16—%
>

i

1. %



16%

2. %

15%
3, %

15—%
4.+ =

Question Number : 165 Question Id : 5494703130 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability ©08rrad &mg}sé

A trader marks his goods at 25% above his cost price and allows a discount of

12.5%. Then the percentage of profit he makes is

28 mébﬂﬁ 97 0L, B4 By Do Sof) 25% edSorr Hstion). 12.5% dﬁ“boeﬁ )

9RSBFE. Oy 8BS 5y &7 To

Options :

i
-



9=%

Question Number : 166 Question Id : 5494703131 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wositid &mgﬁa

; ; T
Four persons ‘P". ‘Q’, ‘R’. and ‘S’ entered into a partnership. ‘P’ subscribed —of
3

1
the capital for 4 months. ‘Q’ subscribed Eef the capital for 6 months. ‘R’

1
subscribed Eof the capital for 8 months and ‘S’ the rest for 3 months. Then the

share of ‘S” out of a total profit of Rs. 1.18.000 at the end of the year (in Rs.) is

P, Q, R, § &3 denrbdy dygen wd ;ng#{io e5° wﬁﬁsaﬂmm Abarc. P bﬁdpm{iéé

1 1 1
—%armﬁ}l 4 Jeen, Q b%}nm&e‘f imi}\ £ doen, R b%ﬂ&dﬁﬂﬁ Ee._}‘ﬁml')cl 8 Deewn,

S ohdS E_J“T‘Pi)ll 3 Doen EJ%}PGJ. PO TP0EB 00 0‘33.‘)&?& ergio dwdo 6@ 1,18,000

ey e’ S g, e (dr o &5 )

Options:

Rs. 12,000

Rs. 18.000
2. &

Rs. 15.000
3. %

Rs. 11,000
4. %



Question Number : 167 Question Id : 5494703132 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wodritdd bwmg‘sé

‘P’ and ‘Q’ entered info a partnership with Rs. 20.00.000 and Rs 40.00.000
respectively. After four months, they mvested Rs. 1.00.000 each in it. If the annual
profit is Rs. 18,40.000, the difference between the shares of profits of ‘P’ and ‘Q’
(1s Rs.) is

P 208oiw Q en ddwme dr 20,00,000 2ubcin dr 40,00,000 e ag Jﬁi}nﬂoaﬁ'é
wﬁ&&&nm dod. 4 w0 dOTS P whor dr 1,00,000 e’ BV
DEPG. NodB Troded S erdo dr 18,40,000 wond, P anboin Q o diog)

erziane arere %9 o (dr |o &)

Options :

5.60.000

6.50.000

6.00,000
3.¥

4% 5.80.000

Question Number : 168 Question Id : 5494703133 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability eosrcdd a»mgﬁa

‘P’. ‘Q" and ‘R’ started a business. The capital of ‘P’ is four-fifth of the capitals of
‘Q" and ‘R’ together and the capital of ‘Q’ is one third of the capital of ‘P’ and ‘R’

together. Then the share (in Rs.) of R in their earned profit of Rs. 1.08.000 is

PLOQ R e wd J“éﬁ”ﬁ":)l Foodomrdd. P’ Diped Q @bdon R o Hipece
. 4 il

MQ}OE_S —_:3 Soédy boin O D%J}L}&}Ci. Padoiv R e ZJ%%JE.}&.EJ QDF__‘EDP_(} —%.:f_l 0Eh0,
ﬁ -

DN B2 S erglo 6r 1,08,000 © &° R aing), o (o |0 &°)

Options :
33.000
30.000
32.000

3. %

36.000

4, %

Question Number : 169 Question Id : 5494703134 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability oS bmgﬁa

Two pipes ‘P’ and ‘Q’ can respectively fill a cistern in 48 minutes and 60 minutes
respectively. Both the pipes are opened for 20 minutes and then the pipe ‘Q" is

turned off. Then the time .(in minutes) it takes further to fill the cistern is

F?%Jajnw P 2oboin Q ad é"gm ST 48 Hlnaawen Soboin 20 Ddaanees
Do, To Feavedn 20 dbdane 86D acars. Q Feind arbdy o

BhTS & F@ DocmdE HEY davobo (Dovnaees )

Options :
32
1. %
18
2. %
12
3.¥
4, ® i

Question Number : 170 Question Id : 5494703135 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability e0sricdd Sbafugﬁé

Two pipes can separately fill a cistern in 12 minutes and 16 minutes respectively
and a waste pipe can drain it at 20 gallons per minutes, If all the three pipes are
opened simultaneously the cistern is filled in 24 minutes. Then the capacity of the

cistern. in gallons. is

Goca i ARV e’i"egm HHAT 12 HHawen bty 16 doudawees’ Jenrios)
B0ty g SEe 3 FLan ovdD ADDAID 20 oY Fd ervdoniomn,
e Fawedr 2330 885, & 8 24 Dhanwd’ Doaod. Wy ¥ &8

ﬂvmgém e’

Options :

240
1. %

280

.
3 192

Question Number : 171 Question Id : 5494703136 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wogricdd bmgaa

Two persons ‘A’ and ‘B’ together can finish a piece of work in 16 days while ‘B’
and ‘C’ together can complete the same work in 20 days. If ‘A’ . ‘B’ . *C” work
together, the same work is completed in 12 days, then the number of days required

for ‘A’ alone to complete the work 13

DG Sy A dain B 68 ad HID 16 Fweod” Lrf 95, B awban € ¢dd w
22D 20 Bwee Lrf Sipdd A, B oBan € $8d 1D @ 23D 12

Berwes” 23r8 Sabridhs, A wg)d & DD Jrd dobmdd esbsduahy Bee dowy

Options:
30

1.4

5> % 25

3 % 28
24

4, ®

Question Number : 172 Question Id : 5494703137 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wosnrd .Ehmg,sa

If ‘P’ and ‘Q’ can do a piece of work in 18 days. ‘Q’ and ‘R’ can do it in 24 days.
‘P* and ‘R’ can do it in 36 days, then the time (in days) needed by ‘P’ alone to

finish that work. 1s

P s0Boin Q ev € 53D 18 Hweed’, Q 20800 R en e HDH 24 Sweest, P
20Bako R e & 229 36 Bwed™n dabidhd, P ag) g o 22 rédanmdd of

e (Berees®)
Options :

45

48
2. ¢

3. %

4. %

Question Number : 173 Question Id : 5494703138 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability ®08Ed ,Ehmgsa

A window is in the shape of a rectangle surmounted by a semicircle on the length
side of the rectangle. If the dimensions of the sides of the rectangle are 16 cm and

6 cm. then the area of the that window. in square cenfimetres, is

A= &5% WEIdPe G0, Fesyy aiPS b 2900 PRI Pﬂm%é dra0
& 28 808 dod. & BY SatHo dInE) Baanen 16 Do [ wbotv 6 o [

en0dd, o3 23 cAwg), prregan (2 [7o |50 e &5%)

Options :

16(3 + @)
5 % 24(3 + xn)
v 326w
4w 40(3 + m)

Question Number : 174 Question Id : 5494703139 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosrd E)bsiugﬁé

If the perimeter and diagonal of a rectangle are 18 m and 5 m respectively. then

the area of that rectangle (in sq. meter) 13

g B0 oo dng), Wiy Foo 8oLy DEEaD HWRTT 18 2 208050 5 0

ond, & &3 B0 PFUgW (3 |0 e &)

Options :



1. %

36
2. %

28
3.¢

48
4, %

Question Number : 175 Question Id : 5494703140 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability @osiedd &mgﬁa

If a metallic solid sphere of diameter 6 cm is drawn into a uniform wire of

diameter 4 mm, then the length (in meters)of the wire so drawn is

6 20 |20 dyrgan (BAD wg b Hvan 4 2 deg Tpan 6963 we J¢od

a5 e 3r0y3, ¢ 8 awe), Te (nwge’)

Options:
6
1. %
2. % 8
10
3. %

4.+



Question Number : 176 Question Id : 5494703141 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosntd bvmgae:&

Three circles of radius 8 cm each are touching each other externally. Then the area
(in sq. cm) inside the triangle formed by joining their centres that is covered by

the 3 circles is

w5168 8 Do M Fdorr (o PE QEPw DOGo PP Kydoid
S00L0T™ Q). & TP Sofrea SN {::3& febao 0w 3 Syre & wabodadd

prop (o o [ e &)

Options:
32w
1.¢
64n
2. %
A7
—
3.% 3
64
4.% 3

Question Number : 177 Question Id : 5494703142 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability 0SiEd 39;5:35@

If the angle of a sector of a circle of radivs 21 cm is 75° then the perimeter of that

sector approximately (in cms)

21 %0 . . F§FGa0 (0 o & 75° Ero de HFrd dity Fus wardm (Do |

e ef)
Options :
72
1. %
5 69.5
63
3. %
79.5
4, ®

Question Number : 178 Question Id : 5494703143 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wodndd .&umgﬁa

The floor area of a conical shaped tent is 154 sq.m and its vertical height 1s 24m.
If each square meter of canvas costs Rs. 15.50. the approximate cost of the canvas

needed for the tent (in Rs) is

o) wsded’ (o we Mo drpTugan 154 dlho | . 2o T &g
Jao (vertical height) 24 2o, & © D S G068 6F 15.50 wond, e

FIEREA09L) 0G0 0k SRR GO (ar]es® ) dnardrre

Options :



9525

8275

9250

Question Number : 179 Question Id : 5494703144 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability esosrieddh ih;:ugﬁé

1500 = )

Options :
1110

1. #

0111

1011

1111

Question Number : 180 Question Id : 5494703145 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability 905e3e avmgﬁa

For a,b € 2+ . define a*b as the remainder obtained when a-b is divided by
23. Then 7*13 =

ab & Ft & a'hd 233 wrhoom Dy %cﬂ“rﬁal a*h TP DogRook. e 7413+

Options :
13
1. %

14

3 % 15

4w 16

Question Number : 181 Question Id : 5494703146 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Ddah A>8ain ﬁ‘s&:@aﬁaﬁvmgﬁé

The contra positive of p—(g— 1) is equivalent to

p—(q— r) G3ng). HBHJAAWIL Sougaucly

Options:

(~gAr)—=>p
1. %

(@n~r)=>~p
2. ¥



(g n~1)-p

4 % P2 A ~¥)

Question Number : 182 Question Id : 5494703147 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Dfas 28a30 H‘éﬂ:édﬁ:&m%a

v i+1
i )= —1 for x = 1. then fo(f 0 /i(x) =
X—

1+1

r=18 f(x)= e90008, e fo(f o f)(x) =

-1
Options :

1.4 f(x)

Question Number : 183 Question Id : 5494703148 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability Do 28ain wﬁm@m&mgﬁa

The equation of the straight line passing through the point (2 . -3) and making
equal intercepts on the coordinate axes. is

(2, =3) Doty thor Dedr, DEPHE BEIVOD HATH ©odd Dotanwh 3D oY

Bar Hindono

Options :
X =y=5=0
1. %
o % X +2v+4=0
25 —p—T=0
3. % '
x+y+1=0
4.+

Question Number : 184 Question Id : 5494703149 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability a3 28a30 wﬁm@m.ﬁvmgﬁa

| ’\-'IIE

sin10° cosl0”

Options:

=
J3

1. %

| B



Question Number : 185 Question Id : 5494703150 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Dot 208ai0 wém{amavmgﬁa

When ax-+bx+2 is divided by x-1 and x+2 if the remainders are 6 and 0

respectively, then the quadratic equation formed with “a” and ‘b’ as ifs roots i3

@ +hr=2 & x-120B0in 112 © & emﬁoé)a;;;};cio Fasooen Sdam 6 2boiw 0

oS By ‘" bain ‘D’ e e g, Mrawe T IGE S ASGHIN

Options :

1 % x-T2x3=0

v —4x+3=0
2.

X" +4x+3=0

X~ —5x+6=0

Question Number : 186 Question Id : 5494703151 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability Ddab 28akw &Smémavmgﬁa

If the system of equations cx+3y = ¢-3 and 12v+cv = ¢ has infinitely many

solutions, then the value of ‘¢’ is

ext3y = ¢=3 20Boin 12¢+y = ¢ PMECETD J{DY BJoBD FEdOW EBH ol

E'_*?i;{}o)iij c'cazoé.b e

Options :
5

1. %
2. % "
6

3.¢
-3

4, ®

Question Number : 187 Question Id : 5494703152 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability DfoH 208030 aﬁ‘gménﬁnébmgﬁé

The sum of all the odd integers between 2 and 100 is

2 S0botn 100 & s:ua;;‘:.?gé e 32 ‘z’.g_?g‘&mmée_) B8y, e 08 2o

Options :
1% 2400
2499

2. &



2500

2599

Question Number : 188 Question Id : 5494703153 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability &0 208adn wéméma»mgﬁa

If in a geometric progression. the difference between 5% term and 4" term is 576
and the difference between its 2% term and first term is 9. then the 6® term of that

progression is

w8 M 3G 6D 5 0 ooty 4 5 Hedwe D) o 576, wbow @D Todd

S0Boin 2068 Heswe D063 S0 9 eond, WP &8 B g, 6 o PGS0

Options :

3076

3072
4. &

Question Number : 189 Question Id : 5494703154 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability &0 S080sn z&‘gmbmﬁbmcﬁ &

25

Z2 .2 1
A=1 2 2i=(Ad A=

2 1 2

Options :
1
_;'}.
5

1.¢
54

2. %
1
—A4

3. x 4
44

4. %

Question Number : 190 Question Id : 5494703155 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Do 2080350 H‘a&émbmgﬁa

The incenter of the triangle formed by the points (2. 3). (-2 .—5) and (4. 6) is

(2,3), (-2 .~5) 2063w (-4, 6) Docapeid IoyE dabawo dog), soscSodan

Options :
(1.-2)
1. %
(-1.2)



(1.2)

(-1.-2)

Question Number : 191 Question Id : 5494703156 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3%:.::755 &mgﬁé

If the arithmetic mean of x1. x2.... x» 18 51, then the arithmetic mean of

Tx1-21. Tx2-21. Ta3-21....7x,-21 is

X1, X2 e Xn OO0 @08 2DE{DOC00 51 ea0nd, Ry To-21 , 721

Tii-21.. Tu-21 DEJJQ,‘_I e9pd m@gmm

Options :

30
1. %

Question Number : 192 Question Id : 5494703157 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability &u@,gs avmgﬁa

The medianof 12 .14 . 10.16. 8.6, 18.15.111s

12.14.10.16.8,.6.18.15. 11 & Sogiaan

Options :

11

Question Number : 193 Question Id : 5494703158 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability &naﬂgﬁ évmgﬁvj

The mode of 42, 36 .44, 38 . 36.40.45. 3615
47 ., 36,44, 38, 36,40, 45, 36 = eroorovEaon

Options :

40



38

Question Number : 194 Question Id : 5494703159 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability ﬂvua:.m?ss &mgéé

If the median of some numbers 15 16.8 and their arithmetic mean is 18.4. then their

mode is

Eﬁi Rogfe dudisan 16.8 S0botw aed 220SSDEHEIA0 18.4 esqméd, L) ea) T

EFaOs a0

Options:
13.2

Question Number : 195 Question Id : 5494703160 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3103.:3755 &mgﬁg

The mean deviationof 1. 2. 3 .4 . 2 about their arithmetic mean is

eags mﬁg.ﬁw;ﬁm o 1.2 ,.3.4 .2 & 033395 m@am LT Py e b )



Options :

| % 138

0.84

0.88

4% 16

Question Number : 196 Question Id : 5494703161 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability a«naapss &hmgéa

The standard deviation of four consecutive positive integers is

e 200% c::.:::b_?g roafew alug) S sTIEISDSI0D

Options :
2
1.8 0
5
s
2. % i

#
Sy

3.

2

|



Question Number : 197 Question Id : 5494703162 Display Question Number : Yes Is Question

Mandatory : No
Statistical Ability 3105355 anmgﬁa
The arithmetic mean of the 10 numbers is 6. but it was later observed that one of

the numbers was misread as 9. After correcting the wrong entry. if their mean was

7. then actual value of that wrong entry is

10 #\ma}gu =t mq&;ﬁjm 6. o008 ez adyared es 10 éaom;gmf w8 o 9™ PJS.}}J
SODTA. BT 370 SIS BT BT 578 @odEian 7 wond, &

ST eﬁéf‘mr;}afl 905 CI0E), e Se

Options :

-
| % 20

19

18

Question Number : 198 Question Id : 5494703163 Display Question Number : Yes Is Question

Mandatory : No



Statistical Ability 31::;::55 avmgﬁa
If a problem in probability is given to 3 students ‘P’, ‘Q’ and ‘R’ whose chances
1
of solving it are —,— and — respectively. then the probability that the problem

11
374

will be solved is
aboa.;rnc.‘_}g@ejfﬁb wE DV, B DD FBosrdA R0ETIIEBRD DO

SoBoin = e_ﬂcfbg S0 ﬁm&t@ijm P. Q. R0 @3, Eb:_uzbg FEoced r‘\:oe,_m‘iﬁgv:&

Options :

| L

Question Number : 199 Question Id : 5494703164 Display Question Number : Yes Is Question

Mandatory : No



Statistical Ability avuspgs .avs!ugﬁﬁ

The probability that a student ‘A’ succeeds in a test is 0.85 and the probability that
‘B’ succeeds in the same test is 0.75. Then the probability that exactly one of them

succeads in that test is

2.8 Dbz o8 g D8 A doduahy poardle 0.85 batw ed Hbzes B fmeandly

Roardfe 0.75. & Hbges oebes® DB 2,68 VDOED] RorIO

Options :
13
1 % 20
5> % 80
13
17

Question Number : 200 Question Id : 5494703165 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability 5%;:.155 &mgﬁa

‘A’ and ‘B’ are two sets such that n(A) = 4 and #(B) = 2. If a relation from A to B

is selected at random, then the probability that their relation is not a function is

n(A) = 4 20Bosn #(B) = 2 edbibeom A doiw B Doty déven. A ol B &

QOPEENEOTT &S DoWoGEaNAD dond @Y, &  Domoda w8 HAAHAL ==

Rma,?aé@
Options :
1. % 8

1
16
2. %
3 % 16
15
16

4.



